Corrections and Additions to EA-2F Course Outline and Problems
Fall, 2017 (as of 10/9/2017)
Page 4:
In the second to last bullet item with regard to the requirement to treat single and multiple employer plans as having a short plan year when the plan terminates before the end of the year, the following sentence should be added:

“Note there was no requirement to treat the plan as having a short year, prior to 2016.”

Page 456:
The amortization period for an initial amortization base established for a plan effective after 2007 is 15 years (not the 30 years used in the solution to question 159a). The initial base of $100,000 should be amortized over 15 years, resulting in a shortfall loss of $3,214.
Page 457:
Carrying forward the correction from page 456 into the solution to question 159b, the following calculations have been corrected:


The minimum funding requirement must be determined for 2016.  Without regard to the shortfall method, this is:
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[image: image1.wmf]|

15

a

&

&

) ( 1.08 = (10,000 + 10,818) ( 1.08 = 22,483


The actual minimum is pro-rated based upon the actual versus expected hours worked in 2016:


22,483 ( (180,000/200,000) = 20,235


Expected UL1/1/2017 = [(100,000 + 10,000) ( 1.08] – 20,235 = 98,565


Actual UL1/1/2017 = 130,000 – 20,235 = 109,765


2016 Experience Loss = 109,765 – 98,565 = 11,200


2016 Shortfall loss:
22,483 ( 
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The smallest amount that satisfies the minimum funding standard for 2018 (before adjustment for the actual hours worked) is:


(13,000 + 100,000/
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= (13,000 + 10,818 + 1,359 + 234) ( 1.08 = 27,444


Adjusting for the actual hours worked:   27,444 ( (220,000/240,000) = 25,157
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